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Time : 3 Hours | [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada
text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A 4x5=20

Answer each question in abéut 50 words. Each question carries 5 marks.
1. Write short notes on the following :

(a) Content analysis

(b) Relative deprivation

(¢) Demographic transition

(d) Decomposition of capital
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PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

What do you understand by relative isolation of family ?

Explain positivism.

Briefly mention the contributions of Robert Merton.

What is meritocracy ?

How does Weber define legitimacy ?

What is Durkheim’s definition of religion ? What are its functions ?
Explain Weber’s notion of rationalization.

What are Parson’s functional prerequisites ?

10. What is the importance of class consciousness in Marx’s theory ?

11. What are social movements ? Mention some new social movements.
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PART C 6x15=90

Answer each question in about 150 words. Each question carries 15 marks.

12. What are the problems of an objective study of social phenomena ?
13. Explain voluntaristic theory of action.

14. What is Radcliffe-Brown’s notion of function ?

15. Distinguish between descent and alliance theories of kinship.

16. What is participatory democracy ? How effective will it be today ?

17. What are the differences between functionalist and conflict theories of
change ?
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PART D 3x30=90

Answer any three of the following questions, each in about 300 words. Each
question carries 30 marks.

18. Given the small size of modern family, what do you think is the future of
kinship studies ?

19. Has the culture and personality school become irrelevant in today’s
globalized world ?

20. How would you explain the increasing role of non-governmental and
voluntary organisations in recent times ?

21. Critically examine the alleged nexus between democracy and
development.

22, Write an essay on the importance of the Enlightenment in the
development of Sociology.
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Note : The English version of the instructions is printed on the front cover
of this question paper.
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INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannada
text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A 4x5=20

Answer each question in about 50 words. Each question carries 5 marks.
1. Write short notes on the following :

(a) Matrilineal tribes of India

(b) Indian atheism

(¢) Caste pollution

(d) Acculturation
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PART B 10x10=100

Answer each question in about 100 words. Each question carries 10 marks.

2. What according to Dumont are the salient features of caste system ?
3. Describe the problems faced by India’s tribal population.

4. Bring out the essential differences between kinship systems of North and
South India.

5. Why did British observers describe Indian villages as little republics ?

6. Describe the civic and religious disabilities of lower castes around the
beginning of the 20'h century.

7. Explain the constitutional provisions that guarantee minority rights.

8. Discuss some major problems of urban India.

9. Narrate the success story of India’s attempt at curbing population growth.
10. Account for the decline of workers’ and farmers’ movements.

11. How would you characterise Indian secularism ?
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PART C 6x15=90

Answer each question in about 150 words. Each question carries 15 marks.

What, if any, are the differences between ‘politicisation of caste’ and
‘casteism in politics’ ?

Comment on the ‘household dimension’ of family.

Discuss the causes of educational deprivation.

Explain the changes in agrarian structure since independence.
Discuss the problems of Indian democracy.

Discuss the nature of domestic violence in India.
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PART D 3x30=90

Answer any three of the following questions, each in about 300 words. Each
question carries 30 marks.

18. Do you think politics based on caste and linguistic identities has
weakened Indian democracy ?

19. Attempt an explanation of the paradox of India’s significant progress in
female literacy and employment even as the sex ratio has shown an
alarming trend of decline.

20. Give suggestions to overcome starvation deaths and chronic
undernourishment of children even though we have achieved

self-sufficiency in food production.

21. Do you feel our country is now ready for the adoption of a uniform civil
code ?

22. Attempt a sociological explanation of corruption in India.
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Note : The English version of the instructions is printed on the front cover
of this question paper.



